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1 Introduction
It is discussed whether UP architecture 1 need to be supported or not.
2 Discussion & Conclusions
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UP architecture 1 gives the possibility for a UE to have bearers established both by the MeNB and the SeNB at the same time. 

Reasoning: 

·  If the SeNB provides good QoS, then all bearers could be handled by the SeNB, and in this case UP arch 1 is not needed. 
·  A case when SeNB may provide a “bad” connection is for highly mobile UEs. For highly mobile UEs it could be assumed that no service would be well served by small cells and it could be chosen to let MeNB handle all bearers. I.e. in this case UP arch 1 is not needed. 
·  Another case the SeNB may provide “bad” QoS, is for real time services, when SeNB is connected by a long latency backhaul such as xDSL. 
· For short real time sessions, MeNB could maybe handle all bearers for the duration of the real time session. I.e. in this case UP arch 1 is not needed.
· A trend is that real time / conversational sessions can be very long, gaming sessions, group call sessions etc. and are concurrent with web browsing, file downloading etc. We think this scenario is increasingly important. For this scenario UP architecture 1 is needed.

· The scenario with concurrent real time and non-real time service occurs also for CPE UEs. 
Conclusion: UP architecture 1 is important for cases when SeNB are connected by high latency backhauls such as xDSL to support off-load of non-real-time traffic while concurrent real-time session is ongoing. 

Proposal: Based on the above conclusion, RAN2 should decide the priority in rel-12 of UP architecture 1 compared to other architectures. 
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